23T =014 UBISIH L QIF ORI
S OIEHOOI D}

HE: ALSD BIE LSME PF
ool ARG AIBIESD| E4

g Al A

[
"
P
o

SH - B S9(3H) - NRAY - BES S SR HIDS2
L OIEHOH O 1t 117,719,520 106,906,269 10,813,251
= 75,429,519
s 1,129,055
J| 9,848
Al 30,108,738
- 11,042,360
242510 ED|F SSME B 61,553,356 59,277,260 2,276,096
= 38,429,650
= 76,660
Al 14,461,906
- 8,585, 140
dZEEO AFEZR0| &4 50,856,715 44,661,848 6,194,867
= 34,897,635
iy 76,660
Al 9,422,254
- 6,460, 166
LOI=X AR F& 19,200 17,620 1,580
201 Ler23d| 14,400 12,820 1,580
01 At22teltl 14,400 12,820 1,580
20i & 14,400 12,820 1,580
ogst=2H| 11,910
Osl=a & 50,0003 x2JH*8= 800
O=s=2=s HE 150& *4,0000H 600
OAMBIEXAIE S8, ST WLl
e 10,000& *502% 500
Odll2IAItY &z 25
70,0003 * 1430 & 10,010
o2g+Y 2,490
OFII2I|2 NE AARIEe S
50,0003 *4Z*103] 2,000
OLoI=sXYH2G &M ¢
70,0003 x7H*13] 490
202 O4H| 1,000 1,000
01 =LHAB] 1,000 1,000
20l & 1,000 1,000
OZ2 bl 1,000,000& 1,000
203 RF=&d| 3,800 3,800
03 AEFRH2FXIY| 3,800 3,800
S0 &t 3,800 3,800
OLQISXAIM HRFX 1,800,000& 1,800
OMIEXAIYE 22E F(4, =4)
2,000,000& 2,000
SOIHH 2g XA 147,391 145,032 2,359
Al 11,250
- 136, 141




SA LoIEOfel D)
mE: 2i2tol) BIIE LEME B
o AZ2S T ASERII| =4 e EA
SH - B S9(3H) - NRAY - BES S S =
307 QIZ2t0IA 147,391 145,032 2,359
Al 11,250
- 136, 141
03 RIZIHMEEH2IHIE X 99,891 97,532 2,359
Al 10,000
- 89,891
201 & 99,891 97,532 2,359
Al 10,000
- 89,891
ostcols £3Xs 29|
99,891,000 99,891
Al 10,000
- 89,891
11 Al SXAMEE R 47,500 47,500 0
Al 1,250
- 46,250
=0 A 47,500 47,500 0
Al 1,250
- 46,250
OsAME s&Y 2Y 2,500,000 2,500
Al 1,250
- 1,250
OWMNsTIz ) 29 7,000,000 7,000
Okl HZAM=US 30,000,000& 30,000
odzg N H&ds n
3,000,000& 3,000
O==1N s old WS 3,000,000& 3,000
OSX&A Helol s3t7H S;HEI| WS
2,000,000& 2,000
ZEAL K& 76,000 76,000 0
Al 4,000
- 72,000
307 QIZ2t0I A 76,000 76,000 0
Al 4,000
- 72,000
04 OIZISHAAIE 2 X 76,000 76,000 0
Al 4,000
- 72,000
20 & 76,000 76,000 0
Al 4,000
- 72,000
O&=Z2 & &AL XI& 76,000,000 76,000
Al 4,000
- 72,000




2 =COIA0HCI
I 225 BOIE LEME 9E
Cigl: AR B N2 XA (ol Hm
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
A4=dl=2 X2 9,000 8,000 1,000
301 YBENZ 9,000 8,000 1,000
02 MSIBEE LG 2(FILHE, XLIHY) 9,000 8,000 1,000
=0 A 9,000 8,000 1,000
O¥x==0ol2 9,000,000& 9,000
MASE LoIDMAAILE X 67,200 67,200 0
Al 33,600
- 33,600
301 LEEN= 67,200 67,200 0
Al 33,600
- 33,600
02 AR B E L6 2 (FAHES, XEHE) 67,200 67,200 0
Al 33,600
- 33,600
=0 A 67,200 67,200 0
Al 33,600
- 33,600
ONAE O =l
100, 000& =448 M| CH 44,800
Al 22,400
- 22,400
ONAE OIAICH et
50,0002 448 M| CH 22,400
Al 11,200
- 11,200
dzAg 29 1 415,800 329,375 86,425
Al 291,081
- 124,719
307 212t0| ™ 415,800 329,375 86,425
Al 291,081
- 124,719
11 AISIEXIAIEEX 415,800 329,375 86,425
Al 291,081
- 124,719
S0 A 415,800 329,375 86,425
Al 291,081
- 124,719
odzAE 29 415,800,000 415,800
Al 291,081
- 124,719
THOH=Ql AMAMHE ALY XI& 104,400 104,400 0
Al 104,400
307 212t0|™ 104,400 104,400 0




SN LoIEOfeI
I 225 BOIE LEME 9E
o AZ2S T ASERII| =4 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 104,400
11 Al =SXAMEEER 104,400 104,400 0
Al 104,400
S0 &t 104,400 104,400 0
Al 104,400
OTHIF Rl AAL BHE
3,000& 1162 *300 104,400
Al 104,400
Jl=3 K= 48,322,814 42,494,130 5,828,684
= 33,827,931
Al 8,696,930
- 5,797,953
301 Let8dZ 48,322,814 42,494,130 5,828,684
= 33,827,931
Al 8,696,930
- 5,797,953
01 AIBIBE X432 (2222 TE) 48,322,814 42,494,130 5,828,684
= 33,827,931
Al 8,696,930
- 5,797,953
S0 &t 48,322,814 42,494,130 5,828,684
= 33,827,931
Al 8,696,930
- 5,797,953
OJ|x=A3 48,322,814,000& 48,322,814
= 33,827,931
Al 8,696,930
- 5,797,953
SENLESHC SSOHEAAHIA 2SR (2! 153,320 155,671 A2,351
2441)
= 76,660
Al 38,330
- 38,330
307 QIZ2t0I A 153,320 155,671 A2,351
= 76,660
Al 38,330
- 38,330
11 Al SXAMEEXR 153,320 155,671 A2,351
= 76,660
Al 38,330
- 38,330
S0 &t 153,320 155,671 A2,351
iy 76,660




S LIROfI
I 225 BOIE LEME 9E
o AZ2S T ASERII| =4 (Gt &
S - BB BR(31) - NSAY - BES S SR b=
Al 38,330
2 38,330
OSTOTOA M|~ 2
153,320,000& 153,320
iy 76,660
Al 38,330
- 38,330
SEHLOIESSEHNO SSUHEAMMEIA SHXIRA(C! 3,360 3,360 0
2481) (AlH])
Al 3,360
307 2I2t01A 3,360 3,360 0
Al 3,360
11 AISIZEXIAIE 2R 3,360 3,360 0
Al 3,360
=0 A 3,360 3,360 0
Al 3,360
OSZOtE A ABIA SALK (XA,
HIMA) 140,000 x2H = 12& 3,360
Al 3,360
LOoIEESMEIA 1,528,150 1,245,160 282,990
= 1,069,704
Al 229,223
- 229,223
307 212+0I A 1,528, 150 1,245, 160 282,990
= 1,069,704
Al 229,223
- 229,223
11 AISIZ2XIAIE 2 X 1,528,150 1,245,160 282,90
= 1,069,704
Al 229,223
- 229,223
=0 A 1,528,150 1,245,160 282,990
= 1,069,704
Al 229,223
- 229,223
OLCIAREFT=ESMUIA(EE)
1,528, 150,000& 1,528,150
= 1,069,704
Al 229,223
- 229,223
LoIgEEEAMEIA (AL 10,080 8,400 1,680
Al 10,080
307 2IZt01A 10,080 8,400 1,680
Al 10,080




2 =COIA0HCI
I 225 BOIE LEME 9E
Cigl: 2SOl A9 XA (el me
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
11 AISIEXAIEEX 10,080 8,400 1,680
Al 10,080
=0 A 10,080 8,400 1,680
Al 10,080
OIS S=EAHIA SALA =&
10,080,000 10,080
Al 10,080
Lolgitel &= L ASEE 6,972,365 7,022,814 A50,449
= 3,344,043
Al 3,538,686
- 89,636
wolgxiel Y A E=EXS E#H(XXMEE) 6,688,086 6,762,814 ANT4,728
= 3,344,043
Al 3,344,043
101 e124H| 29,887 28,009 1,878
= 14,943
Al 14,944
M4 J1I2ZtHI22HsSEx 29,887 28,009 1,878
= 14,943
Al 14,944
S0 A 29,887 28,009 1,878
= 14,943
Al 14,944
(©FSE=geli=mclFalsl 26,130,000& 26,130
= 13,065
Al 13,065
odgolaE YA 2,697,000& 2,697
= 1,348
Al 1,349
odgold Z2UESHE K| 960,000 960
= 480
Al 480
OHXEIA A=A (| 100,000& 100
= 50
Al 50
201 LB AH| 1,200 1,200 0
= 600
Al 600
01 AF22telb| 1,200 1,200 0
= 600
Al 600
S0l A 1,200 1,200 0
= 600




SAM: I EOHe 0t
I 225 BO|E LEME 9E
el Lot HE Y ASEE (ci9): &g
S - BB BR(31) - NSAY - BES S SR b=
Al 600
OoldX}e| AtR22lb] 1,200,000& 1,200
= 600
Al 600
206 M ZH| 10,940 10,910 30
= 5,470
Al 5,470
01 MZH| 10,940 10,910 30
= 5,470
Al 5,470
=0 A 10,940 10,910 30
= 5,470
Al 5,470
O oILTeIAIE EHI72
10,940,000& 10,940
= 5,470
Al 5,470
301 et Z 268,500 268,530 N30
= 134,250
Al 134,250
01 Al B EHL0Z2(2DEXTHS) 267,300 267,330 N30
= 133,650
Al 133,650
20i & 267,300 267,330 A30
= 133,650
Al 133,650
OLQlUTeIAtY &0 A 2124]
267,300,000 267,300
= 133,650
Al 133,650
11 HARHIXEZ 1,200 1,200 0
= 600
Al 600
S0 &t 1,200 1,200 0
= 600
Al 600
O QIATICIAIY EO AL Al
1,200,000& 1,200
= 600
Al 600
307 QIZ2t0| ™ 6,377,559 6,454,165 AT76,606
= 3,188,780
Al 3,188,779
6 28= 1,800 1,800 0




SN LoIEOfeI
I 225 BO|E LEME 9E
el Lot HE Y ASEE (ci9): &g
S - B S2(B) - NISAY - BAS S SR HIDS2
= 900
Al 900
201 & 1,800 1,800 0
= 900
Al 900
OLoldXtelAt A A2 E
1,800,000& 1,800
= 900
Al 900
11 Al SXAMEEXR 6,375,759 6,452,365 AT76,606
= 3,187,880
Al 3,187,879
20i & 6,375,759 6,452,365 AT6,606
= 3,187,880
Al 3,187,879
Ol RelArY =&D|2 K&
6,375,759,000& 6,375,759
= 3,187,880
Al 3,187,879
ALIHZ2E 29 284,279 260,000 24,279
Al 194,643
- 89,636
307 2IZ2t01A 284,279 260,000 24,279
Al 194,643
- 89,636
10 At =S XA EEE2IHIE X 274,279 250,000 24,279
Al 184,643
- 89,636
20/ & 274,279 250,000 24,279
Al 184,643
- 89,636
OAILIVZEY 2| 265,279,000& 265,279
Al 175,643
- 89,636
OBAAL = 9,000,000 9,000
Al 9,000
11 A= XAMEES 10,000 10,000 0
Al 10,000
20l & 10,000 10,000 0
Al 10,000
OAFZ NI 10,000,000& 10,000
Al 10,000
LOISIIAE &5 300,500 4,400,840 24,100,340
= 56,000




2 =COIA0HCI
I 225 BOIE LEME 9E
Cielr LOISTIAIY &5 (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
Al 52,500
- 192,000
B2E HEZ% 150,000 100,000 50,000
401 Al&HILL0HY| 150,000 100,000 50,000
01 Al&HI 150,000 100,000 50,000
=20 A 150,000 100,000 50,000
o&d=zE 2 150,000,000& 150,000
E2g A= 42,000 0 42,000
401 A2 200 42,000 0 42,000
01 Al&HI 42,000 0 42,000
S0 A 42,000 0 42,000
OAANAEHEA 42 .000,000& 42,000
LOIQAUAAE S0 |IsEY)AIY 108,500 0 108,500
= 56,000
Al 52,500
405 KHASRISHI 108,500 0 108,500
= 56,000
Al 52,500
01 AL 2 EFHSHI 108,500 0 108,500
= 56,000
Al 52,500
S0 A 108,500 0 108,500
= 56,000
Al 52,500
OSMEIAHIANAEY XHFR(ED]
AsX XE2) 10,500,000& 10,500
= 7,000
Al 3,500
OSMEJRAHANOME IR (=0l
QAAIL JIsE2) 98,000,000& 93,000
= 49,000
Al 49,000
LOIZXAIE 29X 3,423,776 3,191,758 232,018
== 131,972
Al 1,448,466
- 1,843,338
&Y det2AY| K& 33,570 32,570 1,000
201 LEtEAH| 33,570 32,570 1,000
01 AFR2teld| 21,570 20,570 1,000
=0 A 21,570 20,570 1,000
OgLet4=2Y| 16,770
OZ2E HMIAE AHNEH =2
75,0002 *60H 2 4,500




S QIBONOID
N HUotD EI|E SME BF
crel: Lol=TIAlY 2N (el me
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
OFZY AN GBS 222
50,0002 *607H 2 3,000
OsdI| BAM =8 150,000 * 101 2 150
Osd)| erdzte| gz
120,000& * 1 A+ 128 1,440
O&d=z2Y 29| 32,0002 x60IH A *43] 7,680
oYXtz 4,800
OnBE SX(2RA2
800,000& 104 £ 800
OJIENMER 2X(=E2Y)
4,000,000& * 101 A 4,000
02 323l 12,000 12,000
=0 & 12,000 12,000
03522 ¥ HA 12,000
OZ2g BEg 12,000,000& 12,000
29 12101 24 30,000 0 30,000
301 Let2HZ 30,000 0 30,000
14 JIEI2 &3 30,000 0 30,000
S0j &t 30,000 0 30,000
OZ=2Y XI210IAIH
100,000& * 15071 2 *23] 30,000
dZGANE 29 587,020 560,390 26,630
Al 204,750
- 382,270
307 QIZ2tol ™ 587,020 560,390 26,630
Al 204,750
- 382,270
11 Al SXAMEE R 587,020 560,390 26,630
Al 204,750
- 382,270
=0 A 587,020 560,390 26,630
Al 204,750
- 382,270
OZ2Y 29HI(1~853) 368,220,000& 368,220
Al 100,800
- 267,420
oZzY HeH|I(1~5S3) 143,300,000 143,300
Al 57,750
- 85,550
Od=2Y HEH|(1-653) 75,500,000 75,500
Al 46,200
- 29,300
A2 Wt 2 2=2H] K& 263,944 300, 165 A36,221
= 131,972
Al 65,936




SN LoIEOfeI
I 225 BOIE LEME 9E
Cigl: LOI=TAIL 2K (crel: e
SH - B S9(3H) - NRAY - BES S SR HIDS2
- 65,936
307 QIZt0IA 263,944 300, 165 A36,221
= 131,972
Al 65,936
- 65,986
11 Al SXAMEE xR 263,944 300, 165 A36,221
= 131,972
Al 65,986
- 65,986
=0 A 263,944 300, 165 A36,221
== 131,972
Al 65,986
- 65,986
Od=2Y 2L=H| stAIXIE 6,544,000 6,544
= 3,272
Al 1,636
- 1,636
Od=Z2Y | SHAIXIA 228,800,000 228,800
= 114,400
Al 57,200
- 57,200
OZ=2Y dHetd| stAIKIA 28,600,000& 28,600
== 14,300
Al 7,150
- 7,150
d=2Y J|IsE4d3st 126,142 133,152 A7,010
Al 40,571
- 85,571
307 QIZ2t0I A 86, 142 93,152 A7,010
Al 25,571
- 60,571
05 RIZteIErE 35,000 35,000
20 & 35,000 35,000
Oz0Pte E&Y XY 29
35,000,000 35,000
11 Al S XA E X 51,142 58,152 A7,010
Al 25,571
- 25,571
S04 & 51,142 58, 152 A7,010
Al 25,571
- 25,571
odzY =3z & 22|XH BIXIAM
51,142,000& 51,142
Al 25,571




SN LoIEOfeI
Zu: AU B LEME BE
Cigl: LOI=TAIL 2K (el &2
SH - B S9(3H) - NRAY - BES S SR HIDS2
| = 25,571
402 QIZ2ERH=01H 40,000 40,000 0
Al 15,000
- 25,000
02 QAT 2AIL B R (0| THE) 40,000 40,000 0
Al 15,000
- 25,000
S0j &t 40,000 40,000 0
Al 15,000
- 25,000
Od=2Y Jls&dst At 40,000,000 40,000
Al 15,000
- 25,000
AALOISTAE 29 476,160 346,320 129,840
Al 476,160
307 QIZ2t0| A 476,160 346,320 129,840
Al 476,160
10 AFSI=SXAEEE2IHIE X 476,160 346,320 129,840
Al 476,160
S0j &t 476,160 346,320 129,840
Al 476,160
OLQICIZESXAIE SAIX X
476,160,000 476,160
Al 476,160
Mot oI=XAE 29 286,661 282,193 4,468
Al 286,661
307 QIZ2to| ™ 286,661 282,193 4,468
Al 286,661
10 At = XA EEHE2IHIE L 286,661 282,193 4,468
Al 286,661
S0 &t 286,661 282,193 4,468
Al 286,661
OMII=I=XIAIE 23|
136,490,500 *2IH 2~ 272,981
Al 272,981
OMIMAIE S AR MM+
150,0002 x6H * 12& 10,800
Al 10,800
OMIAIE S AR N2 S
40,0003 x6H* 123 2,880
Al 2,830
Lol =xa 29 1,571,799 1,492,968 78,831
Al 353,098
- 1,218,701




SN LoIEOfeI
I 225 BOIE LEME 9E
Cigl: LOI=TAIL 2K (crel: e
SH - B S9(3H) - NRAY - BES S SR HIDS2
307 QIZ2t0IA 1,571,799 1,472,995 98,804
Al 353,098
- 1,218,701
05 2IZtRIEE 1,528,479 1,431,955 96,524
Al 309,778
- 1,218,701
201 & 1,528,479 1,431,955 96,524
Al 309,778
- 1,218,701
oLol=Xxa 29| 1,134,297,000& 1,134,297
Al 194,283
- 940,014
oLol=Xa 22 23| 394,182,000 3%4,182
Al 115,495
- 278,687
10 Al =S XA EEE2IHIEL 43,320 41,040 2,280
Al 43,320
20i & 43,320 41,040 2,280
Al 43,320
OLoI=X2 SAHA =5
190,000 * 14+ 123 31,920
Al 31,920
OLo=X2& 22 SAMA =
190,000 x5+ 123] 11,400
Al 11,400
colfist 29 XA 30,000 30,000 0
Al 12,000
- 18,000
307 QIZto|™ 30,000 30,000 0
Al 12,000
- 18,000
11 Al SXAMEE R 30,000 30,000 0
Al 12,000
- 18,000
=0 A 30,000 30,000 0
Al 12,000
- 18,000
oLoltis 2 30,000,000 30,000
Al 12,000
- 18,000
ASIEXIAIE XA 18,480 14,000 4,480
Al 9,240
- 9,240
307 QIZt0| A 18,480 14,000 4,480




SN LoIEOfeI
I 225 BOIE LEME 9E
Cigl: LOI=TAIL 2K (crel: e
SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 9,240
- 9,240
11 Al SXAEE xR 18,480 14,000 4,480
Al 9,240
- 9,240
204 & 18,480 14,000 4,480
Al 9,240
- 9,240
OAMIISXAL E=1EH| 18,480,000 18,480
Al 9,240
- 9,240
KSA2IMEIA JIE 2= 1,214,943 1,151,645 63,298
s 850,461
Al 182,241
- 182,241
FAAHSMHIAK R AL 1,214,943 1,151,645 63,298
= 850,461
Al 182,241
- 182,241
)X|91IP%§>" MNBIMHIA SEXAIR (2 X) (M2 (HF 1,178,109 1,151,645 26,464
iy 824,677
Al 176,716
- 176,716
201 Ler23d| 1,000 1,000 0
s 700
Al 150
- 150
02 323l 1,000 1,000 0
s 700
Al 150
- 150
20i & 1,000 1,000 0
= 700
Al 150
- 150
O=NA RERS 1,000,000& 1,000
s 700
Al 150
- 150
307 QIZ2t0| A 1,177,109 1,150,645 26,464
= 823,977
Al 176,566




2AM:

X ZH -
o=

L OIEOH QI 1t

NS A2l MEIA D18 2=

Erel: FHOTIEAHIA KA (crel:xg
SH - B S9(3H) - NRAY - BES S SR HIDS2
- 176,566
05 RIZIRIEIS 1,177,109 1,150,645 26,464
= 823,977
Al 176,566
- 176,566
20 & 1,177,109 1,150,645 26,464
= 823,977
Al 176,566
- 176,566
OXIEAIZ AMBIAEXIAIS AP HI
1,177,109,000& 1,177,109
iy 823,977
Al 176,566
- 176,566
KEXEE AlSIAHIA SEXAIZ (EX) (M8 (HE 36,834 0 36,834
OISAHAXAALY)
iy 25,784
Al 5,525
- 5,525
307 QIZ2tol ™ 36,834 0 36,834
s 25,784
Al 5,525
- 5,525
05 RIZtRIEE 36,834 0 36,834
s 25,784
Al 5,525
- 5,525
20i & 36,834 0 36,834
= 25,784
Al 5,525
- 5,525
OXNSGXEE MIABIA EXAIS (HSE
OISAHLXAAL) 36,834,000 36,834
= 25,784
Al 5,525
- 5,525
ESfV =N 30,543,804 26,510, 152 4,033,652
= 15,859, 169
J| 9,848
Al 13,544,295
- 1,130,492
ZoHel SXIXIE & AD|&IE 14,924,310 12,212,642 2,711,668
= 9,703,429
Al 4,8%,682




[
i’
oF
ol

1,560
1,560

1,560
1,560

28,080
21,210
10,610
10,610

(1ZH)

B 0 4hy

10,600
10,600

29,640
22,770
10,610
10,610

324,199

Ofl oK
(BHH)

4,200
2,000
500
1,500
1,000
1,200
1,020
180
6,410
2,520
700
350
350
350
350
350

600
12,160
12,160

P E

cldl

b

- SRI(3) - HEAY

- E
01 At

-

el

)

=l
=l
2

3

3

=l

50,000 1074
500 *35+1,0000H
1,000& *1,0000H
70,0003 *62 A
60,0003 *32f A
70,0003 *5EH *1
70,0003 5 & %1
70,000 *5EH %1
70,0002 5 *1

1

o
70,0003 x1& 12

A =g XA A 2|9
70,0002 %312
(B2 88 4

AN 2
S|
lél—

-NI2

ACH
o

pas)
o~

R0
o]
KD

5

*2 B3

2|

U]

o

100,000

-

<J

M

S A

1,000

5,960
5,960
6,200
4,200
1,000

2,000

*13024 %123
2,000,000&

2|

HIAl
KNSNLA=LZEAIAE HA

=

al

2

ORI = X1t

I

O
OAEEHI= X

202 (bl




S EOIBONRID
Yz HOCI=SKISE
crel mOjo!l SXINH X ADIFE (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
01 2yl 1,000 1,000
S0 A 1,000 1,000
OZ2 0l 1,000,000& 1,000
203 YR =&IH| 1,950 1,950
03 AIZHF=RIAR =AY 1,950 1,950
S0 A 1,950 1,950
OIS KIAIZE HR=XKI 450,000& 450
OZOHIZIIAE /A2(H, =4
1,500,000& 1,500
301 LBIEXN = 3,920 3,920
14 JD|EIE A= 3,920 3,920
S0 A 3,920 3,920
O OHRUHEHOIAIE AIMNEARRA =&
70,000 *4H *143] 3,920
ZHOHQ! QIADHS A 5,000 5,000 0
201 LB AH| 5,000 5,000 0
03 A2 HH]| 5,000 5,000 0
=0 A 5,000 5,000 0
OHEOHC! AIAIINA ALY 5,000,000& 5,000
Zofel = 4,131,224 3,231,265 899,959
= 2,891,857
Al 1,239,367
301 LEEN= 4,131,224 3,231,265 899,959
= 2,891,857
Al 1,239,367
01 AIRIEZEE A2 (2DEXMH) 4,131,224 3,231,265 899,959
= 2,891,857
Al 1,239,367
S0 A 4,131,224 3,231,265 899,959
= 2,891,857
Al 1,239,367
OHIAZ 4,131,224,000& 4,131,224
= 2,891,857
Al 1,239,367
S E=d OIS 332,750 184,586 148, 164
= 232,925
Al 99,825
301 LBE M= 332,750 184,586 148, 164
= 232,925
Al 99,825
01 Al BB (2DEXMH) 332,750 184,586 148, 164
= 232,925
Al 99,825
=0l A 332,750 184,586 148, 164




2AM:

X ZH -
o=

LOIZORQ! 2t
goielsxsa

ol HOoHel =SXIXH L ADEE (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
= 232,925
Al 99,825
OF ES={GIES! 332,750,000 332,750
= 232,925
Al 99,825
Mo (XA S) 324,737 291,829 32,908
== 227,316
Al 97,421
301 Let8dZ 324,737 291,829 32,908
= 227,316
Al 97,421
01 A BE XG2S (ZRNEZME) 324,737 291,829 32,908
= 227,316
Al 97,421
204 & 324,737 291,829 32,908
= 227,316
Al 97,421
OO (XHAIRI, ZHOOLS)
324,737,000& 324,737
= 227,316
Al 97,421
MNAS SSEOQ! HOoHaEH(AlB]) 167,100 161,037 6,063
Al 167,100
301 Let8EZ 167,100 161,037 6,063
Al 167,100
2 A BEE 62 (FHLAS, KSHA) 167,100 161,037 6,063
Al 167,100
S0j &t 167,100 161,037 6,063
Al 167,100
O SI E=y 167,100,000& 167,100
Al 167,100
NASHEOHR! REH| L HABIXZ 3,312 3,312 0
= 1,656
Al 1,656
301 Let8EZ 3,312 3,312 0
= 1,656
Al 1,656
01 MBI BEAGS(ZRNEZNE) 3,312 3,312 0
= 1,656
Al 1,656
S0/ & 3,312 3,312 0
= 1,656
Al 1,656




=N

L OIEOH QI 1t

= ZojoI=NEw
crel mOjo!l SXINH X ADIFE (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
OZHRIEE RICHH| & HAH| K&
3,312,000& 3,312
= 1,656
Al 1,656
Ztofelol2H| X 82,945 59,771 23,174
= 66,356
Al 16,589
308 AXIHHMSOIA 82,945 59,771 23,174
= 66,356
Al 16,589
11 2| 2SHUSHE AR AEAISEHI 82,945 59,771 23,174
= 66,356
Al 16,589
S0 A 82,945 59,771 23,174
= 66,356
Al 16,589
OZ&ofelel= | 82,945,000& 82,945
= 66,356
Al 16,589
20l BRI |R WE 11,337 11,337 0
= 9,070
Al 2,267
301 LEIEN= 11,337 11,337 0
= 9,070
Al 2,267
01 Al EZE LW Z2(2DEXTH) 11,337 11,337 0
= 9,070
Al 2,267
=0 A 11,337 11,337 0
= 9,070
Al 2,267
OZ0Hel BEXD|DJ| n& 11,337,000 11,337
= 9,070
Al 2,267
MOl MselBAH PUXA 800 700 100
Al 800
301 YBtE M= 800 700 100
Al 800
02 Al EZE L6 Z2(FAHES, XILHE) 800 700 100
Al 800
=0 A 800 700 100
Al 800
O&0Hel Msel2Hd 2 X
800,000 800




S LoIEOoQl 0t
M Fojesxsa

crel mOjo!l SXINH X ADIFE (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
| | Al 800
MNAS HOHCIAICH X 4,500 4,500 0
201 LEt2AH| 4,500 4,500 0
01 AtR2teld| 4,500 4,500 0
=0 A 4,500 4,500 0
OZZSEC! A2l OIAIKIR XIHAXS
900,000 *x5CH 4,500
OIS KA ASA 7,089,550 5,815,153 1,274,397
= 4,962,685
Al 2,126,865
307 212t0|™ 7,089,550 5,815,153 1,274,397
= 4,962,685
Al 2,126,865
05 OIZIRES 7,089,550 5,815,153 1,274,397
= 4,962,685
Al 2,126,865
=0l & 7,089,550 5,815,153 1,274,397
= 4,962,685
Al 2,126,865
OZ I &S XIJAIS 7,089,550,000& 7,089,550
= 4,962,685
Al 2,126,865
HOHCl EsEX JHiEX 62,742 45,139 17,603
= 43,919
Al 18,823
307 2I1z2t0|™ 62,742 45,139 17,603
= 43,919
Al 18,823
05 DIZIR(E 2 62,742 45,139 17,603
= 43,919
Al 18,823
S0l A 62,742 45,139 17,603
= 43,919
Al 18,823
OO ESEX J20
62,742 ,000& 62,742
= 43,919
Al 18,823
ZoHel E=XIR AIBIFIHAIY 577,839 547,691 30,198
Al 577,839
307 2I1z2t0|™ 577,839 547,691 30,198
Al 577,889
05 RIZIREZ 577,839 547,691 30,198




S LoIEOoQl 0t
M Fojesxsa

ol HOoHel =SXIXH L ADEE (Gt &
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
Al 577,889
201 & 577,889 547,691 30,198
Al 577,889
OIS AIE AlHIFItAS
577,889,000& 577,889
Al 577,889
LEMEAMBIA BRI 750,000 646,098 103,902
= 525,000
Al 112,500
- 112,500
307 QIZ2t0| A 750,000 646,098 103,902
= 525,000
Al 112,500
- 112,500
05 RIZIRIEIS 750,000 646,098 103,902
= 525,000
Al 112,500
- 112,500
20i & 750,000 646,098 103,902
= 525,000
Al 112,500
- 112,500
OZLEHE MHIAAIY 750,000,000 750,000
= 525,000
Al 112,500
- 112,500
AHLEXE BIRH™XA 1,100 6,593 A5,493
= 770
Al 330
307 QIZ2t0| A 1,100 6,593 5,493
= 770
Al 330
05 2IZtRIEE 1,100 6,593 A5,493
= 770
Al 330
20/ & 1,100 6,593 A5,493
= 770
Al 330
OHHLEXIR AL 1,100,000& 1,100
= 770
Al 330
LR R2AE 9,821 7,143 2,678
= 6,875




2AM:

L OIEOH QI 1t

= ZojoI=NEw
ol HOoHel =SXIXH L ADEE (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 2,946
307 QIZt0IA 9,821 7,143 2,678
= 6,875
Al 2,946
05 RIZIRIEIS 9,821 7,143 2,678
= 6,875
Al 2,946
201 & 9,821 7,143 2,678
= 6,875
Al 2,946
OYIL MO LAl &Y
9,821,000 9,821
= 6,875
Al 2,96
LEEOHR! F2AHESMUIAXRA 785,715 657,143 128,572
= 550,000
Al 235,715
307 QIZ2t0IA 785,715 657,143 128,572
= 550,000
Al 235,715
05 RIZtRIErE 785,715 657,143 128,572
= 550,000
Al 235,715
20 & 785,715 657,143 128,572
= 550,000
Al 235,715
OLEHML =HESMUIA X
785,715,000 785,715
= 550,000
Al 235,715
TR F2HESMUIA AIHIFIE X 71,303 39,398 31,905
Al 71,303
307 QIZ2t0IA 71,303 39,398 31,905
Al 71,303
05 2IZIRIELZ 71,303 39,398 31,905
Al 71,303
=0 A 71,303 39,398 31,905
Al 71,303
OQLEHOMRl 2SS MHIA AIHIFI}
|2 71,303,000 71,303
Al 71,303
FAE YYTHEM HSESHEHA KR 264,286 266,567 A2,281
= 185,000
Al 79,286




2AM:

L OIEOH QI 1t

R AETIEESS
SRl HOHC! SXXE L AD|EE (e &=
SA - EH - CR(B) - NRAY - BaS S SR RS2
307 2I2t01H 264,286 266,567 N2,281
= 185,000
Al 79,286
05 0IZtRE 3 264,286 266,567 N2,281
= 185,000
Al 79,286
20 & 264,286 266,567 A2,281
= 185,000
Al 79,286
OF ALY LM D NUZSSAMYI
A K& 264,286,000 264,286
= 185,000
Al 79,286
eI ==Y 29 49,300 49,300 0
Al 46,000
- 3,300
307 2I2t01A 49,300 49,300 0
Al 46,000
- 3,300
05 QIteier2 49,300 49,300 0
Al 46,000
- 3,300
=0 A 49,300 49,300 0
Al 46,000
- 3,300
OFMC M2 29 49,300,000& 49,300
Al 46,000
- 3,300
ZOHOISMEX 2HH 29 96,255 85,000 11,255
307 2IZt0|A 96,255 85,000 11,255
05 QIteEr2 6,255 85,000 11,255
=0 A 9%,255 85,000 11,255
O=EFEMoIsSHEXEHH 29
96,255,000& 9%,255
SOl CIANE 29 73,004 66,000 7,004
307 2I2t01A 73,004 66,000 7,004
05 QI2tRIE2 73,004 66,000 7,004
S0 A 73,004 66,000 7,004
O=7F&eleIHbAH 29
73,004,000 73,004
ZOHeISAIAIE & & 29 K& 13,015,836 10,994,548 2,021,288
= 5,058,380
J| 9,848
Al 7,612,835




2AM:

L OIEOH QI 1t

S HOHI=SXISE
o2l ZoHI=XAIE L &Hl 22 X2 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
- 334,773
HOCIEHH 29 K& 75,425 75,425 0
307 2IZt01A 75,425 75,425 0
03 RIZIHMEERZ2IHIZX 39,585 39,585 0
=0 A 39,585 39,585 0
OXIMEOMCIEs S7 X s 22|
27,805,000& 27,805
ONXLRIQ=NES 27N 2
S| 8,180,000 8,180
S0teIE sl S48l 23|
3,600,000& 3,600
11 Al SXAMEEXR 35,840 35,840
=0 A 35,840 35,840
OXEBLULHMI=EXEE S22 11,680
OXEBULEOHR AISIMEES
8,680,000 8,680
OXNEULER MEHSES
3,000,000 3,000
OXIMAEOMCIES =S7X3 21,160
OTHILE Ol HMEIX| AS 3,930,000& 3,930
OFMeI=XISEIS 12,000,000 12,000
OIS A = MIOILE 5,230,000& 5,230
OSAHEHCIIAHEH 3,000
OXOHL! MAlgEs T2 )8
3,000,000& 3,000
SR MEOHCIHOIA X AHE K JAAIS 43,750 43,750 0
Al 17,500
- 26,250
307 QIZ2t0| A 43,750 43,750 0
Al 17,500
- 26,250
11 Al =SXAEE R 43,750 43,750 0
Al 17,500
- 26,250
20 & 43,750 43,750 0
Al 17,500
- 26,250
OSFHMUBHSED =X JAHEH 29
A& 43,750,000 43,750
Al 17,500
- 26,250
e =XAE 2gX= 90,000 101,400 211,400
Al 90,000
301 LA Z 90,000 101,400 211,400
Al 90,000
02 MBI BEH2(FLHS, NSHA) 90,000 101,400 211,400




=N

X ZH -
o=

LOIZORQ! 2t
goiel=xsa

Crelr FOJOISXIAIA W Bl 29 X (el me
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
Al 90,000
=0l A 90,000 101,400 A 11,400
Al 90,000
OHel Hojel AldoIEE X
50,000 *150H % 123] 90,000
Al 90,000
HOHCl HF=AIE 29 7,130,240 7,031,795 98,445
= 4,991, 168
Al 2,139,072
307 212to|™ 7,130,240 7,031,795 98,445
=2 4,991,168
Al 2,139,072
10 AISISAIAIEEHE2IHIEX 7,130,240 7,031,795 98,445
= 4,991, 168
Al 2,139,072
=20 A 7,130,240 7,031,795 98,445
= 4,991,168
Al 2,139,072
OHMKFYEEHFAIE 2HH|
7,130,240,000& 7,130,240
= 4,991,168
Al 2,139,072
ZOHCIFAIE 2 AIHIKIA 352,263 347,399 4,864
Al 352,263
307 212to|™ 352,263 347,399 4,864
Al 352,263
10 AISIZEXAIEHES2HHIEX 352,263 347,399 4,864
Al 352,263
S0 A 352,263 347,399 4,864
Al 352,263
O&OUHFAIE 2H AIHIXIE
352,263,000 352,263
Al 352,263
OIS ESAIE 2H AHIKIRA 952,743 856,949 95,7%
Al 952,743
307 2120l & 952,743 856,949 95,794
Al 952,743
10 AISIZEXAEHAEASIHIEX 952,743 856,949 95,794
Al 952,743
=0 A 952,743 856,949 95,794
Al 952,743
ORI |IESAIE 2H AlHIXIE
952,743,000 952,743
Al 952,743




2AM:

L OIEOH QI 1t

Yz HOCI=SKISE
Crelr FOJOISXIAIA W Bl 29 X (el me
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
oI ZSMEIIAE A AHIKIR 259,229 250,223 9,006
Al 259,229
307 212to|™ 259,229 250,223 9,006
Al 259,229
10 AISIZEXIAIEHESHHIEX 259,229 250,223 9,006
Al 259,229
S0 A 259,229 250,223 9,006
Al 259,229
OZIBSMEIIY 2 ALK
259,229,000 259,229
Al 259,229
ZOHCIKIGAISI THE A E 2F 1,331,843 1,078,770 253,073
Al 1,228,636
- 103,207
307 2120l ™ 1,331,843 1,078,770 253,073
Al 1,228,636
- 103,207
10 AISIEXIAIEEHAESHHIEX 1,331,843 1,078,770 253,073
Al 1,228,636
- 103,207
S0 A 1,331,843 1,078,770 253,073
Al 1,228,636
- 103,207
O&HRIF2UHESAIE 22|
718,875,000& 718,875
Al 646,938
- 71,887
OZESFUAESAIE 2EH|
581,648,000& 581,648
Al 581,648
OXS A &AL 0IZX =2HAH|
13,320,000& 13,320
OTOWOIZ=2UHESAIE =II 29H|
18,000,000& 18,000
ORI R HATHEIA A A 1,032,938 1,021,550 11,388
Al 1,004,138
- 28,800
307 212t0| ™ 1,032,938 1,021,550 11,388
Al 1,004,138
- 28,800
10 AISISAIAIEEHE2IHIEX 1,032,938 1,021,550 11,388
Al 1,004,138
- 28,800
=0 A 1,032,938 1,021,550 11,388
Al 1,004,138




2AM:

L OIEOH QI 1t

S HOHI=SXISE
Crelr FOJOISXIAIA W Bl 29 X (el me
SH - B S9(3H) - NRAY - BES S SR HIDS2
- 28,800
QUM ATHEAI L 2|
1,004, 133,000& 1,004,138
Al 1,004,138
OXFOHC!I MNATHEAIE 22X S2tAalt|
A& 28,800,000& 28,800
SPLEIMNIBEHNSHE 29 520,000 0 520,000
Al 520,000
307 QI2t0I A 520,000 0 520,000
Al 520,000
05 2IZIRIELZ 520,000 0 520,000
Al 520,000
S0j &t 520,000 0 520,000
Al 520,000
OSFLULHHUEMWFHEH 23|
520,000,000 520,000
Al 520,000
SREMeIsK2 29 1,030, 146 0 1,030, 146
Al A1, 146
- 89,000
307 @I2+0| ™ 1,030, 146 0 1,030, 146
Al A1, 146
- 89,000
05 2IZIRIELZ 1,030, 146 0 1,030, 146
Al A1, 146
- 89,000
S0j &t 1,030, 146 0 1,030, 146
Al A1, 146
- 89,000
O=7&0eI=sX2 23| 1,030, 146
OZ AR 2124d| 941,146,000 941,146
Al A1, 146
O&el23| 89,000,000 89,000
SSHONI KNS MEHE X 172,921 163,782 9,139
= 64,332
Al 96,498
- 12,091
307 QIZ2t0| ™ 172,921 163,782 9,139
= 64,332
Al 96,498
- 12,091
10 At = XA EEHE2IHIE L 172,921 163,782 9,139
= 64,332
Al 96,498




=N

L OIEOH QI 1t

M ZHOHI=XSE
Crelr FOJOISXIAIA W Bl 29 X (el me
S - BB BR(31) - NSAY - BES S SR b=
- 12,091
20 & 172,921 163,782 9,139
= 64,332
Al %,498
- 12,001
O=SHCINS MEHEH 23|
172,921,000 172,921
= 64,332
Al 96,498
- 12,001
SOHRIHAFAIE SIIEED| e XA 4,800 4,800 0
= 2,880
Al 1,920
307 2I2t0|A 4,800 4,800 0
= 2,830
Al 1,920
11 AISIZ2XIAIEE X 4,800 4,800 0
= 2,880
Al 1,920
=0 A 4,800 4,800 0
= 2,830
Al 1,920
OFOHCIHFAIL BIIEFD| dE XA
4,800,000& 4,800
= 2,880
Al 1,920
S3EC NFHES HAXE At 19,538 18,705 833
J| 9,848
Al 9,690
307 2IZt0|A 19,538 18,705 833
J| 9,848
Al 9,690
11 AISISXIAIEE X 19,538 18,705 833
J| 9,848
Al 9,690
S0j &t 19,538 18,705 833
J| 9,848
Al 9,690
O=3HMC! NFXE=S FHNAXJAALS
19,538,000& 19,538
J| 9,848
Al 9,690
Zonel LRxrel & 1,981,029 1,619,216 361,813
= 1,020,055




=N

X ZH -
o=

LOIZORQ! 2t
goiel=xsa

Sl F0KOl LNt EE (£t9): &2
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
Al 960,974
ZOHQIL X2 X & (LetE A Xtel) 951,532 821,963 129,569
= 475,766
Al 475,766
101 e124H| 951,532 821,963 129,569
= 475,766
Al 475,766
M4 J1I2ZtHI22sSEx 951,532 821,963 129,569
= 475,766
Al 475,766
S0 A 951,532 821,963 129,569
= 475,766
Al 475,766
OZHOIL Rt (LBts) A
951,532,000 91,532
= 475,766
Al 475,766
OOl L Xt KIS (AIZEHIZ RE2) 259,570 193,232 66,338
= 129,785
Al 129,785
101 21| 259,570 193,232 66,338
= 129,785
Al 129,785
M4 JI2ZtH 22 sSES 259,570 193,232 66,338
= 129,785
Al 129,785
=0 A 259,570 193,232 66,338
= 129,785
Al 129,785
OZOHRIL X2 (AIZHA) A
259,570,000& 259,570
= 129,785
Al 129,785
HOopCId X2l K& (2R LX) 391,438 367,106 24,332
= 195,719
Al 195,719
101 o12AH| 256,460 367,106 A 110,646
= 128,230
Al 128,230
M4 JI2ZtH 2 HsE S 256,460 367,106 A 110,646
= 128,230
Al 128,230
=0 A 256,460 367,106 A 110,646




=N

X ZH -
o=

LOIZORQ! 2t
goiel=xsa

S| &OHel X2l &= (&9 &
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
= 128,230
Al 128,230
OO XI2I(EXE) Y LAY
256,460,000 256,460
= 128,230
Al 128,230
307 2120l & 134,978 0 134,978
= 67,489
Al 67,489
11 AISIEXIAISEEX 134,978 0 134,978
= 67,489
Al 67,489
=0 A 134,978 0 134,978
= 67,489
Al 67,489
OO LI (SRIE) /AEAS
134,978,000& 134,978
= 67,489
Al 67,489
oI L Xt K2 (QHOFAHLEA) 182,228 174,265 7,963
= 145,782
Al 36,446
307 2120l ™ 182,228 174,265 7,963
= 145,782
Al 36,446
11 AISIEXAIEEX 182,228 174,265 7,963
= 145,782
Al 36,446
S0 A 182,228 174,265 7,963
= 145,782
Al 36,446
OZHOH I X} 2| K| (QHOFAFIFA)
182,228, 000& 182,228
= 145,782
Al 36,446
ZOHQIL X2 X & (RS EOHR! QALESAIEX) 146,005 0 146,005
= 73,003
Al 73,002
307 QI2H0| & 146,005 0 146,005
== 73,003
Al 73,002
11 AISIEXAIEEX 146,005 0 146,005
= 73,003
Al 73,002




=N

L OIEOH QI 1t

B ZojoI=NEw
ciel: mojol X2l HE (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
S0l A 146,005 0 146,005
= 73,003
Al 73,002
OXOHQIL X K& (HSL ANl 22AE
SAH BX) 146,005,000& 146,005
= 73,003
Al 73,002
SIEHENOH Ol SHEA X2 AMS 50,256 62,650 N12,394
Al 50,256
101 el4H| 50,256 62,650 N 12,394
Al 50,256
M4 J12ZtH 22 sSES 50,256 62,650 N 12,394
Al 50,256
=01l A 50,256 62,650 N 12,394
Al 50,256
OYE T HEUX AL
50,256,000& 50,256
Al 50,256
OIS XIAIE JIsEZLAIY 140,609 59,854 80,755
== 70,305
Al 70,304
NI HFTAIE JISE2ZAS 89,325 59,854 29,471
= 44,663
Al 44,662
402 DIZHRFE0| A 89,325 59,854 29,471
= 44,663
Al 44,662
02 SIZIXIEAIHE R (0I ™ THL) 89,325 59,854 29,471
= 44,663
Al 44,662
=20 A 89,325 59,854 29,471
== 44,663
Al 44,662
OEHHATHE R SHEA I
71,170,000& 71,170
= 35,585
Al 35,585
OHIolZI BSMEDIY HHIBA
18, 155,000 18,155
= 9,078
Al 9,077
ORI R HATHEIAI A DIsSE2ZAIY 41,392 0 41,392
= 20,696
Al 20,696




=N

L OIEOH QI 1t

Yz HOCI=SKISE
CiPl HONRISTIAIE JIS2 A (£t9): &2
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
402 OIZ2HRE0| A 41,392 0 41,392
= 20,696
Al 20,696
02 CIZIXIE AL E X (0| M i) 41,392 0 41,392
= 20,696
Al 20,696
=0l A 41,392 0 41,392
= 20,696
Al 20,696
OOILISHE I ES AA R MHIB2LAIS
41,392,000& 41,392
= 20,696
Al 20,696
ZONRIF2IESAIA DIsSE2LAIY 9,892 0 9,892
- 4,946
Al 4,946
40?2 QIZHXE0| M 9,892 0 9,892
= 4,946
Al 4,946
02 CI2EXIE AN E X (0| M RHS) 9,892 0 9,892
- 4,946
Al 4,946
=04 9,892 0 9,892
= 4,946
Al 4,946
OHYEHI X ESESFUAESHEYH U2
2ZAS 9,892,000& 9,892
= 4,946
Al 4,946
HOHQIERIAA &= 482,020 1,623,892 A1,141,872
= 7,000
Al 3,500
- 471,520
OIS A2 HE 482,020 624,000 A 141,980
= 7,000
Al 3,500
- 471,520
201 LEL2AH| 24,120 24,120
01 AF22telt] 24,120 24,120
S0l A 24,120 24,120
OYBt=ZH]| 24,120
OAXTEH 2| 670,000 *36H4 24,120
401 Al&2HI2L 200 5,000 624,000 619,000




=N

L OIEOH QI 1t

M ZHOHI=XSE
o HOHeISAIANE &5 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
03 Al&20H8I 5,000 5,000
=0 A 5,000 5,000
OIf2A!l Hl= 5,000,000 5,000
405 Ko SHI 452,900 452,900
= 7,000
Al 3,500
- 442,400
01 ML 2EFH S| 452,900 452,900
= 7,000
Al 3,500
- 442,400
S0i & 452,900 452,900
= 7,000
Al 3,500
- 442,400
O=SFHMeI=X2 2SES 452,900
OXtgd | 69,500,000 = 1CH 69,500
= 7,000
Al 3,500
- 59,000
OLE=S Z&H 1,400,000 *2J4 2,800
OZ#FH 1,200,000 =324 38,400
O=AM MIED] 800,000 & *2JH4 1,600
o4& 800,000 *4H 3,200
(OFSPNTE(1IDN 300,000 *2H4 600
ogldgls 800,000 & *2JH 1,600
OXsHE IS DA 1,700,000 * 14 1,700
OXBE | 400,000 *5I4 2,000
O3z8D| 500, 0002 *2H 1,000
OHM&2I 400,000& *2J4 800
OZ M 500,000 * 104 5,000
Oa&E=AD| 3,500,000 #2704 7,000
O3I18 3| 800,000 * 1574 12,000
O82 MADI 850, 0002 *2JH 1,700
OANRE HA(ZE AIEE)
260,000 #2204 520
OAIRE M (BE) 240,000 *50H 1,200
OARE HAH(ER) 210,000 =230 4,830
OAIRE 2AXHZE, A&
270,000 #2204 540
OANRE 2XHE R, Ed)
180,000 =280 5,040
O3& M& 110,000 =404 4,400
O34 (6et) 330,000 #4004 13,200
O3MBIL (3 210,000 =204 4,200




=N

L OIEOH QI 1t

= ZojoI=NEw
o HOHeISAIANE &5 (Gt &
S - BB BR(31) - NSAY - BES S SR b=

OMZ 250,000 *15J1 3,750
Oslelg HiolE(eols 240,000 & *30H4 720
O3l g Xt 110,000 *18JH 1,980
(@IME=2== [o]E=teielR=: 340,000 =404 13,600
Ounssg Xt 110,000 * 12004 13,200
OoZol 350,000 & *2JH4 700
Oct2XE 2Rt 450,000 * 1094 4,500
OAI} 400,000& *6IH 2,400
O=01e HE 200,000 & *50H4 1,000
OANIED| 2,000,000& * 104 2,000
O=2 &l 35,000,000 14 35,000
O 300,000&*10JH 3,000
Oulg & 400,000 x6IH4 2,400
Oalg Alg 250,000 *200H 5,000
Oalg 9%t 110,000 & =804 8,800
Osd Xt 250,000 & *40H 1,000
OlblsAl2IXIZNE 3,000,000& * 14 3,000
OANHBAMEF 3,000,000 14 3,000
oggss 2,000,000& * 14 2,000
OTASEXIEEF L 4H|

15,000,000 *14] 15,000
OHAXNEEFNE 2,000,000& * 14 2,000
Oald WaI(UY) 4,000,000 *3J4 12,000
OstdlzE&E XHEA 3,000,000& *30H4 9,000
OYE OFAKID| 500,000 & *2JH4 1,000
OEy =Y 3,000,000& *37H4 9,000
OMAESRIOIE 5,000, 000& *x2I4 10,000
OU=sHAAIA 2,500,000 =404 10,000
Oogd=s 1,500,000& * 10 1,500
OAH=XI| 2,000,000& =10 2,000
OHZ0| 70,0003 84 560
O&I|g&E (M) 1,000,000 *4 04 4,000
O&II2s (MY 150,000 =24 300
O& 3| 100,000 & #3304 3,300
O« 01012 1,000,000& *37H4 3,000
OESI| 70,000 200 1,400
OgdA=I(D| 4,000,000 *1J4 4,000
OZLDIALXRID 500, 0002 #4204 2,000
OAD| aRd|(AY) 500,000 *4H 2,000
O« BHZED) 300,000 *10JH 3,000
OLElA 10,000,000 *14] 10,000
O= 0t ZHAH(THEA) 350,000 *2JH 700
OO0t 2Kt 60,0002 *6IH 360
OgH Ul 600,000 * 10 600




S LoIEOoQl 0t
g Zojesxsa

o HOHeISAIANE &5 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
OAt=8 250,000 * 1504 3,750
ouagE 224l 6,000,000& =10 6,000
OtXg 3tdet 2,000,000 =174 2,000
Ot 2,000,000& *2J4 4,000
O&AI|Is=e || 4,000,000 14 4,000
O™ HMIXIXI2f K¢ 2,000,000 =14 2,000
OQdlgr AXD[(AlE) 2,200,000& =104 2,200
O3 1,350,000 * 14 1,350
ODEA(RITHEDIH)
12,000,000 104 12,000
(OFSPAF=R} 4,000,000& *1J4 4,000
OJtHIElI2Ior &2 15,000,000 14 15,000
IO ZMHESBEHHE 29 24,228,046 19,798,193 4,429,853
= 21,140,700
iy 176,830
Al 1,914,032
- 996,434
KE KA 3,696,846 3,218,268 478,578
= 2,995,873
ax 176,880
Al 320,571
- 203,522
ANe2Z, NSEEAE Y Z2Y9TEHEHSY 2,198,824 2,139,182 59,642
= 1,978,042
Al 153,848
- 66,934
202 04| 1,000 1,000
01 2L 1,000 1,000
=0 A 1,000 1,000
o220l 1,000,000 1,000
402 QIZ2HR=01H 2,197,824 2,138,182 59,642
= 1,978,042
Al 153,848
- 65,934
03 QIZHRIEFAS LI 2,197,824 2,138,182 59,642
= 1,978,042
Al 153,848
- 65,934
S0i & 2,197,824 2,138,182 59,642
= 1,978,042
Al 153,848
- 65,934
OXEZ = At | 2,197,824,000& 2,197,824




SN LoIEOfeI
Bu: 20| ZMBLIHE S
ol X2 XA (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
= 1,978,042
Al 153,848
- 65,934
O1I2s)1 22HHE 7,000 7,000 0
01 B2 AY| 7,000 7,000 0
01 AtS2teltl 7,000 7,000 0
S0i & 7,000 7,000 0
00|2E)| S3UY 2HE
7,000,000 7,000
KEXEE AISIAHIA SXAIY (BX) (MEH) (DAL 252,686 252,686 0
2hH)
iy 176,830
Al 37,903
- 37,903
402 QIZ2ERH=01H 252,686 252,686 0
s 176,830
Al 37,903
- 37,903
03 IZHIEFAIS I 252,686 252,686 0
iy 176,830
Al 37,903
- 37,903
204 & 252,686 252,686 0
= 176,880
Al 37,903
- 37,903
OJtARIE 22X ALY 252,686,000& 252,686
s 176,830
Al 37,903
- 37,903
2EsEJU=s3 A2 827,449 392,404 435,045
= 743,607
Al 59,018
- 24,824
402 QIZ2ERH=01H 827,449 392,404 435,045
= 743,607
Al 59,018
- 24,824
03 QIZHRIEIAIS I 827,449 392,404 435,045
= 743,607
Al 59,018
- 24,824
20 & 827,449 392,404 435,045




SN LoIEOfeI
Bu: 20| ZMBLIHE S
ol X2 XA (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
= 743,607
Al 59,018
- 24,824
o3I I2SHI 8,208,000& 8,208
= 7,387
Al 575
- 246
Q3|IIBSEII 30,096,000 30,096
= 27,086
Al 2,107
- 03
oHLIIs=E 12,312,000& 12,312
= 11,080
Al 862
- 370
ox A3 IB2SH 12,210,000& 12,210
= 10,989
Al 855
- 366
OF AN AH A 80,708,000 80,708
= 72,637
Al 5,650
- 2,421
O3Y N =H ZH 109,438,000& 109,438
= 97,400
Al 8,755
- 3,283
O3 MZHZH | 9,256,000& R,256
= 83,030
Al 6,458
- 2,768
OFELL M= H E(XHARI010
43,966,000& 43,966
= 39,569
Al 3,078
- 1,319
OFEFUL XS HEH(XHAH =1t)
438,255,000 438,255
= 394,429
Al 30,678
- 13,148
XEREdE 29(2H12x) 391,747 377,856 13,891
= 274,224
Al 58,762




SN LoIEOfeI
Bu: 20| ZMBLIHE S
ol X2 XA (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
- 58,761
307 QIZt0IA 391,747 377,856 13,891
= 074,204
Al 58,762
- 58,761
10 AISI=SXAEEE2IHIE R 391,747 377,856 13,891
= 214,224
Al 58,762
- 58,761
=0 A 391,747 377,856 13,891
== 274,224
Al 58,762
- 58,761
OXISX&HE 23| 384,551,000& 384,551
= 269,187
Al 57,682
- 57,682
Os|IIZSE At 7,196,000 7,19
= 5,037
Al 1,080
- 1,079
XS REdE 29 (AHIEE) 19,140 19,140 0
Al 11,040
- 8,100
203 SR F=&| 900 900
03 Al FRIHRFAIY| 900 900
S0j &t 900 900
OXGAEHEH 2P FA 900,000& 900
307 2IZ2t0|A 18,240 18,240 0
Al 11,040
- 7,200
10 Al =S XA EEE2IHIE X 18,240 18,240 0
Al 11,040
- 7,200
S0 &t 18,240 18,240 0
Al 11,040
- 7,200
OXSXEME SAR HHMEE
150,000 x8H 12 14,400
Al 7,200
- 7,200
OXNISREME SAXR A
40,0003 «8H 123 3,840
Al 3,840




SN LoIEOfeI
Ho: 20D ZMBLEHE S
o2l IR ZMES XA F& (e
S - B S2(B) - NISAY - BAS S SR HIDS2
SO ZMES ALY F2 20,531,200 16,579,925 3,951,275
= 18,144,827
Al 1,593,461
- 792,912
MA=N 12,820,000 11,101,556 1,718,444
= 11,538,000
Al 897,400
- 384,600
301 Let8dZ 12,820,000 11,101,556 1,718,444
= 11,538,000
Al 897,400
- 384,600
01 AIBIBE X432 (2222 TE) 12,820,000 11,101,556 1,718,444
= 11,538,000
Al 897,400
- 384,600
20i & 12,820,000 11,101,556 1,718,444
= 11,538,000
Al 897,400
- 384,600
OMA=AN 12,820,000,000& 12,820,000
= 11,538,000
Al 897,400
- 384,600
FNH=0 6,895,058 5,166,097 1,728,961
= 6,205,552
Al 482,654
- 206,852
301 LEtEdZ 6,685,058 4,956,097 1,728,961
= 6,016,552
Al 467,954
- 200,552
01 AIBIBEXF2 (2222 TE) 6,685,058 4,956,097 1,728,961
= 6,016,552
Al 467,954
- 200,552
=04 & 6,685,058 4,956,097 1,728,961
== 6,016,552
Al 467,954
- 200,552
oYx=0o 6,685,058,000& 6,685,058
= 6,016,552
Al 467,954




SN LoIEOfeI
Ho: 20D ZMBLEHE S
o2l IR ZMES XA F& (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
| = 200,552
403 XEXISHHSAH=201 A 210,000 210,000 0
= 189,000
Al 14,700
- 6,300
02 SI|2S0CHet =N <AEAIS ] 210,000 210,000 0
== 189,000
Al 14,700
- 6,300
204 & 210,000 210,000 0
= 189,000
Al 14,700
- 6,300
(ORI =10 210,000,000& 210,000
= 189,000
Al 14,700
- 6,300
ME=y=10;| 8,027 6,042 1,985
308 AHXIEHHISOIH 8,027 6,042 1,985
08 WIS EX 8,027 6,042 1,985
=0 A 8,027 6,042 1,985
ou=s=0 8,027,000 8,027
oHAHEH= 105,815 95,329 10,486
= 95,234
Al 7,407
- 3,174
301 Let8EZ 105,815 95,329 10,486
= 95,234
Al 7,407
- 3,174
01 A BEEXHS(ZREETE) 105,815 95,329 10,486
= 95,234
Al 7,407
- 3,174
201 & 105,815 95,329 10,486
= 95,234
Al 7,407
- 3,174
Odfiet & ZFHZN 105,815,000& 105,815
= 95,234
Al 7,407
- 3,174
S0 | ZMHES A =R B 190,259 101,860 88,399




A LOIEOpOID
HEH: 20D |ZMEPANE 29
Ciel: 20D FMBLTAY A (cr9l: &g
s . bou 11 & 0 AbH _
S - BB O9(3) - NEAIY - BAS (g%%‘) 5(3@% HDE2
201 LB AY| 700 900 A200
01 AFR22tel| 700 900 A200
=0 A 700 900 A200
(OFF:E= 700
OMSHAARAG| BalxHt
70,0002 x5H %23| 700
202 4| 1,000 1,000
01 2LHAH Y] 1,000 1,000
=20 A 1,000 1,000
o220l 1,000,000 1,000
301 LBIEXNZ 188,559 99,960 88,599
2 AR 2SS (FUHS, XLHE) 188,559 99,960 88,599
=0 A 188,559 99,960 88,599
O=2DDD|=MEB AL SHHSE
2aly| B00-& *3, 000 A CH+30H+ 12& 64,800
O=2DDD|=MEBE A2 SAISM Y|
2T Dol
1,250 %2, 000AMICH* 122 30,000
ONASIIF HAEE= K&
15,3202 *510AMICH* 122 93,759
HEk=2e | 100,041 100,041 0
= 100,041
201 B2 AY| 100,041 100,041 0
= 100,041
01 AFR22tel| 100,041 100,041 0
= 100,041
=20 A 100,041 100,041 0
= 100,041
OdE+= 22|Y| 100,041,000 100,041
= 100,041
HUESAN StA| EYEXH 412,000 0 412,000
= 206,000
Al 206,000
101 14| 17,546 0 17,546
= 8,773
Al 8,773
4 JI1I2HH22HEE 4 17,546 0 17,546
= 8,773
Al 8,773
S0 A 17,546 0 17,546
= 8,773
Al 8,773
OJ|2HHl 22Xt 214l E 17,546,000 17,546
= 8,773
Al 8,773




S IEOOID
Yz, 20D |xZMEYUENE 29
Ciel: 20D FMBLTAY A (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
301 LBtE M= 3%,454 0 394,454
= 197,227
Al 197,227
01 Al BB (2DEXMH) 3%,454 0 394,454
= 197,227
Al 197,227
=0l A 3%,454 0 3% ,454
= 197,227
Al 197,227
OFHUEM StAl EEXI& 3%,454, 000 394,454
= 197,227
Al 197,227
MASS MEortd II&J 46,643 10,325 36,318
g 25,054
Al 6,264
- 15,325
L= g sigixt K& 46,643 10,325 36,318
g 25,054
Al 6,264
- 15,325
S L A KA 10,325 10,325 0
201 LEt2AH| 3,300 3,300 0
01 AtR2teld| 3,300 3,300 0
=0 A 3,300 3,300 0
OgLbt4=2H| 3,300
ORHADARI Al22D2
1,100,000& *33] 3,300
301 LEIBN= 7,025 7,025
03 AR 2 & A 26l 2 (K TH) 7,025 7,025
=0l & 7,025 7,025
O AIDAFLXE &MY 850,000 *x53] 4,250
ORADAEA CHXIE
100, 000& *3 *53] 1,500
ORAHADAEX 2 AISE
165,000& *53] 825
ORADAYUX SHED| 2|
69,000& *53] 345
Od#HAA & 201 AIH|
15,000 *73] 105
o|lZ2 2 ZABIAH(CIZAH]) 36,318 0 36,318
g 25,054
Al 6,264
- 5,000
101 @124H| 36,318 0 36,318
g 25,054




2 =COIA0HCI
mu: HASE MBOHE X
chels b #eR AW (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
Al 6,264
- 5,000
M4 JI2ZtH 22 sSES 36,318 0 36,318
g 25,054
Al 6,264
- 5,000
S0 A 36,318 0 36,318
g 25,054
Al 6,264
- 5,000
OJI2HHl 22Xt elAHH| = 36,318,000& 36,318
rag 25,054
Al 6,264
- 5,000
HAESHHH| (I &Oo oI 132,728 148,194 A 15,466
ol 2AHY| 82,798 81,474 1,324
olA9Y| 82,798 81,474 1,324
101 @124H| 82,798 81,474 1,324
01 8% 82,798 81,474 1,324
=01 A 82,798 81,474 1,324
(@INFASIES=, 12,3213 x 164 *35A| 2+ 128 82,798
Jl23| 49,930 66,720 A 16,790
|23t 49,930 66,720 A 16,790
201 LEt2AH| 20,650 21,120 N470
01 AtR2teld| 20,650 21,120 AA70
=0 A 20,650 21,120 N470
OgYbt4=2Y| 4,330
OJ|I2MEES 7Y
5,000 x178x12& 1,020
OJIE2 HEZES 7Y 300,000 300
OZHEgH Y ¢ 350,000 *4= 1,400
OblE=s= 15,000& 35+ 128 540
O=2AEXA 2 950
A 20,000& 408 A 800
B4 30,0002 %52 A 150
Ogal NIEHH] 3,000 x20J x23] 120
OZg| 16,320
OJ2HR2FE SA|
8,000&* 172 x10L x 128 16,320
202 04| 24,480 40,800 A 16,320
01 2yl 24,480 40,800 A 16,320
=0 A 24,480 40,800 A 16,320
OJ |28 2UHSHE W]
20,000& *17Hx6L « 122 24,480




ol
i’
oF
ol

& T 0f AHY
(15 )

3,600
3,600
3,600

1,200
1,200
1,200

Ofl oK
(BHH)

3,600
3,600
3,600
3,600
1,200
1,200
1,200

1,200

P E

- SRI(3) - HEAY

L

S A

-

<J

M

300,000 » 128

R0
|
10!

ok
D

=
Kr

-

<J

M

100,000& » 128

K0




